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130,000,000 130,000
= 65,000
o 65,000
HY2AIHI(HMSAIE ) 330,128 306, 161 23,967
el 2| 22,756 20,159 2,597
el 2ad| 22,756 20,159 2,597
101 @124H| 22,756 20,159 2,597
01 2= 20,034 17,630 2,404
SNEEEEES
11,1302 x 152« 10A1 2+ 123 20,034
02 JIEtAE = 2,722 2,529 193
SAZAZ 2 (LIIH 924 E)
9,860 x1H*23A| 2+ 123 2,722
=3l 307,372 286,002 21,370
Jl=3H] 307,372 286,002 21,370
201 er23| 300,772 279,902 20,870
01 At2tltl 58,460 61,590 A3,130
oARHEH A2E ¢ 5,200
ARES 20,0003 x205+23] 800
—SAEX 25,0003 #4 Ax 123 1,200
Bl S dMARS
200,000 +8LH*23] 3,200
CANEEE FAES 7Y 7,880
—AIA| 25,0002 65123 1,800
RSO 40,0002 x208t Ax43] 3,200
e EAES 40,0002 x155+22 1,200
-MADISEN & 7Y
700220001 =128 1,680
o=ADl, ZelH S 3t =
100,000 *7CH*12] 700
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2A:

AL A

B SN 2AAY|(KSAML)
&l D122 (CH9: &S1)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
ocHEE J| 2 30,0003 x55+23| 300
ogUE 1Y 10,0003 *155*13] 150
oY &Y 18,030
e 60,000& 12 %118 7,080
=& 30,000 *1H x365 10,950
NEFRSE 5,160
=N 20,000 x5« 128 1,200
AESN 15,000 x222 x 128 3,960
oF4I| YXE 50,0002 <2501 122 15,000
oBFA MBI Y2
25,000 x14CH*12& 4,200
oZJ|EHI| X2
60,000 20l = 122 1,440
SHSAA Hig 222 1o
200,000 1 *23] 400
02 B232ZH| 242,312 218,312 24,000
ocdIIR= 19,000,000 x12& 228,000
oi - otk 23 1,000,000& 128 12,000
COIHY 3lH AIE =
25,0003 #43| =128 1,200
oS24 1,400& %540 £ =1CH 756
oRER= 356
—-ldt 40105+ 128 52
-S| 2,530& x10S* 128 304
203 R =&IH| 6,600 6,100 500
02 RPN AL2 =K 1,440 1,240 200
o XRIO| APD|EIE AHH| 40,0002 x36H 1,440
M4 ENSHLRFEY| 5,160 4,860 300
o300 =1t
(400,0002+(5,0002 +6H ) )+ 12! 5,160
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